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General Studies with Aptitude & Mental Ability Test

1. Choose the most accurate of the four given contexts which equates with that of the italicized lexical

item in each of the following sentences:

Methink there is much reason in his sayings

a. The design is unquestionably the best

b. His obstinacy is proverbial

c. He doesn’t speak much English but he can make himself understood
d. Proverbs are great words of our forefathers

. Choose the most accurate of the four given contexts which equates with that of the italicized lexical

item in each of the following sentences:

I honour Caesar for his valour

a. He is very patient in dealing with his enemies

b. The judge did not condemn him

c. The soldier showed great courage in defending his Country
d. Everyone admired him

. Choose the most accurate of the four given contexts which equates with that of the italicized lexical

item in each of the following sentences:

Yet with Gandhi a new, unique element emerged

a. The ship sank in the Ocean b. A fierce storm arose immediately
c. The lion become angry d. The law was imposed on the people

. Choose the most accurate of the four given contexts which equates with that of the italicized lexical

item in each of the following sentences:

--------- has she not greater powers of endurance?
a. Indians are able to tolerate any hardship

b. The programme continuer for a long time

c. He entered the station hurriedly

d. They have the power to fight for their rights

. Choose the most accurate of the four given contexts which equates with that of the italicized lexical

item in each of the following sentences:

The summits of Hardeoli and Trishuli at the glacier’s head are unreal in their consummate beauty.
a. The delicate work is complete in nature

b. Because of the strike they could finish only partial work

c. It is so unnatural that i got confused

d. The concrete ideas made him famous
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Choose the most accurate of the four given contexts which equates with that of the italicized lexical
item in each of the following sentences:

They were----- industrious enough to slave in the paddy fields.

a. Kumar’s uncle is very humble

b. The productive cost of this material is 10 rupees

d. Only true hard working people will be rewarded in future

Choose the most accurate of the four given words opposite to the italicized word:
The judge ruled out that it was a grievous fault.
a. Serious b. Grave c. Big d. Ordinary

Choose the most accurate of the four given words opposite to the italicized word:
There is not a nobler man in Rome than Antony.
a. Greater b. Smaller c. Humbler d. Dishonest

Choose the most accurate of the four given words opposite to the italicized word:
Gandhiji was radically different from any of the earlier reformers.
a. Dull b. Miserably c. Moderately d. Drastically

. Choose the most accurate of the four given words opposite to the italicized word:

Women’s marvelous power is lying dormant
a. Sluggish b. Passive c. Active d. Unused

Fill in the blanks with suitable model verb:
The patient is very critical, but who knows he -------- recover.
a. Could b. May c. Night d. Must

Fill in the blanks with suitable model verb:
Thou ------- not steal
a. Will b. Shall ¢. Should d. Can

Fill in the blanks with suitable model verb:

You -------- feel sorry for what you’ve done.
a. Need b. Need not c. Dare d. Ought to

Fill in the blanks with suitable model verb:
As his class mates, we ----- stand by him through this crisis.
a. Need b. Need out c. Dare d. Ought to

Fill in the blanks with suitable model verb:
My marks are so poor that i ------- show my progress report to my father.
a. Need b. Need not c. Dare d. Dare not
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Identify the sentence pattern:
By five | will complete it.

a. SVCAA b. SVIODOA c. ASVO d. SVAAA
Odd out

A few students read regularly at home at night.

a.and b. but c. for d. although

Fill in the blank with a suitable link word:
To err is human ----- to forgive is divine.
a. either b. but c. before d. whether

Identify the sentence:
They sell milk which pure
a. Simple b. Compound c. Complex d. Exclamatory

Read the passage given below and answer the question that follow :

A lot of things are going to happen in the next fifty years as the population of the world increases
rapidly. It is enormously important to increases the yield of grain plants. A great deal has happened
through the work of the geneticists who are specialists who are specialists in genetics in the last five
years. For instance, there has been an enormous worldwide increase in the production of what
Americans call corn (maize to us), due to the development of new strains. Throughout agriculture
geneticists are improving plants to get higher yields.

Why is there an enormous increase in the production of corn?
a. Because the population of the world increases rapidly

b. The geneticists could increase the yield of grain plants

c. The geneticists are specialists in genetics

d. Due to the development of new strains

Tell me not, in mournful numbers,

Life is but an empty dream!

For the soul is dead that slumbers,

And things are not what they seem.

Why do people complain life as an empty dream?

a. The soul of the man that is inactive is dead

b. In our real life, things happen contrary to our desires and longings.
c. People complain so because of their dead and inactive soul

d. Life is not an empty dream. it is real and earnest

Life is real! Life is earnest!
And the grave is not its goal;
Dust thou art, to dust returnest,
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Was not spoken of the soul.

Why life is real?
a. Life is real because it is deathless b. Death is not end of life
c. Thou refers to the mortal man. d. All human beings are the dust

Let us, then, be up and doing,
With a heart for any fate;
Still achieving, still pursuing,
Learn to labor and to walk.

What should we learn?
a. We should learn labor b. We should work hard and walk steadfast
c. We should signify d. We should cheer up

Not in a dreamy and inane abstraction

To sleep our life away,

But, gathering up the brightness of home sunshine,
To deck our way.

What is meant by ‘Inane abstraction’?
a. Activeness b. Inactiveness c. Laziness d. Brightness

A NOISELESS, patient spider,
I mark’d where on a little promontory it stood isolated,
Mark’d how to explore the vacant vast surrounding.

What does the word ‘I’ refers to?
a. Walt Whitman  b. Douglas Malloch c. Tagore d. Brain Pattern

Write a paragraph by re-arranging the following sentences in correct sequence. The first and the last
sentences are already in order:

1. One morning the Giant was lying awake in bed.

2. It sounded so sweet to his ears.

3. But it was really only a little linnet singing.

4. He thought it must be the King’s musicians passing by.

5. He heard some lovely music.

6. The hail stopped dancing over his head.

a.152436 b.124356 c.143256 d.152346

Write a paragraph by re-arranging the following sentences in correct sequence. The first and the last
sentences are already in order:
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1. The children visited the Giant’s garden every day.

2. The Snow, the Frost, The North wind and the Hail stayed in the garden.
3. The Giant drove the children away and built a high wall round the garden.
4. Through a little whole wall, the children had crept in.

5. The spring stopped visiting the garden.

6. Immediately the soring came back to his garden.

a.135426 b.152436 c.135246 d.132546

28. Complete the following choosing the correct answer from the options given:
The Giant final journey was -------
a. To Paradise b. The Snow and the Frost
c. To the neighboring village d. The North Wind and Hail

29. Complete the following choosing the correct answer from the options given:
Antumn did not give any -------- to the Giant’s garden.
a. Flowers b. Snow c. Fruits d. Birds

30. Complete the following choosing the correct answer from the options given:
The twelve peach trees broke out into delicate blossoms of -----------
a. Pink and Pearl  b. Blue and Pearl c. Black and Blue d. Pink and White

31. Complete the following choosing the correct answer from the options given:
The selfish Giant longed for ---------
a. Spring b. Hails c. North wind d. The little child

32. Disappointment in not winning prize made lvan and Masha --------
a. Hate each other b. Love each other
c. To be more sympathetic to each other  d. Blame each other

33. Complete the following choosing the correct answer from the options given:
The total amount of the winning prize was -----
a. 1,00,000 b. 75,000 c. 60,000 d. 65,000

34. Complete the following choosing the correct answer from the options given:
Mr. Behrman died of ---------
a. Malaria b. Pneumonia c. Typhoid d. Jaundice

35. Complete the following choosing the correct answer from the options given:
The artists came to Greenwich village because of ------
a. Good air b. Low rent c. Fine landscape d. Posh locality
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Complete the following choosing the correct answer from the options given:

The Camel lived -------- of a Howling desert.
a. In the middle b. At the Southern end
¢. In a Farm house d. In the North end

Complete the following choosing the correct answer from the options given:
The three animals ---------

a. Patiently did the work b. Made a complaint to the man
¢. Made a complaint to the Djinn d. Prayed to God

Complete the following choosing the correct answer from the options given:
a. Djinn punished the Camel using --------
a. This magic b. His power c. His whip d. His wisdom

Complete the following choosing the correct answer from the options given:
The Djinn was in charge of ---------
a. All deserts b. All animals c. Water d. The World

Monsieur Morissot and Sauvage had a common interest in -------
a. Shooting b. Fishing c. Gambling d. Hunting

They encountered the Prussians while -------
a. Walking along the road b. Drinking in the club
c. Fishing in the river d. Swimming in the lake

The two friends were -------
a. Soldiers b. Spies c. Anglers d. Officers

The uncommon men and woman who entered the city were from ------
a. One region b. Different regions
c. Two different regions d. Many regions

The old man bought a small bowl of noodles for --------
a. Himself b. His grandson c. His wife d. His son

While visiting Mrs. Sappleton, Mr. Nuttel carried ------
a. a bag b. some books
c. a letter of introduction d. some luggage

According to Verathetragady of her anut happened ------ ago
a. Three years b. Two years c.ayear d. Five years
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Framton and other two persons were engulfed in ------
a. Fire b. Dong c. Bog d. Flame

Match the following Proverbs with their meanings:

PROVERBS MEANINGS
A. Better be a fool than a knave - 1. Nothing can be achieved all of a sudden
B. Fine feathers do not make fine birds - 2. One should think before he acts.
C. Rome was not built in a day - 3. Do not cheat others through you are cheated
D. Man proposes God disposes - 4. One cannot be great just by dress
E. Look before you leap - 5. Things do not occur as man wishes
A B C D E
a 3 4 1 5 2
b 1 2 3 4 5
c 2 6 1 4 3
d 1 4 5 2 3

A snipe is a kind of ------
a. Horse b. Flood c. Fish d. Bird

Choose the most accurate of the four given contexts which equates with that of the italicized lexical
item in each of the following sentence:

He hath brought many captives home to Rome

a. The football players were welcomed by the captain

b. The mice were caught in a trap

c. The prisoners were set free

d. The workers were busy in competition of the work

Identify the correct preposition from the option given below
The papers are to be prepared ------- a month
a. within b. by c.in d. for

Choose the appropriate question tag for the following statement
She hasn’t submitted the note --------- ?
a. hasn’t she? b. doesn’t she? c. has she? d. does she?

The sometime “Skinned their noses”. What is the figurative meaning of the phrase “Skinned their
noses”?

a. Were upset by failures b. Rubbed the nose accidentally
c. Scratched the nose d. Encouraged by failures

“I come to bury Caesar, not to praise him” Whose words are there?

a. Antony b. Brutus c. Casca d. Shylock
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Match the following characters and the plays they appear

Column A Column B
A. Portia - 1. The taming of the shrew
B. Mark Antony - 2. Hamlet
C. Bianca - 3. The Merchant of Venice
D. Claudius - 4. Julius Caesar
A B C D
a. 1 3 4 2
b. 2 1 3 4
C. 3 4 1 2
d. 4 1 2 3

After all, winners don’t do different things, they do things differently. Pick out the right antonym of
the word “different”
a. Dissimilar b. Similar c. Indifferent d. Constant

After all winners don’t do different things. They do things differently.

The above lines suggests

a. All winners are different b. Winners do different things

c. Winners do things differently d. Losers don’t do different things

Match the titles of poem under Column A with the names of poets under Column B and choose the
correct codes.

Column A Column B

A. The cry of the children - 1. Archibald Lamp man

B. A psalm of life - 2. Elizabeth Barrett Browning

C. To a Millionaire - 3. William Wordsworth

D. The solitary reaper - 4. Henry Wadsworth Longfellow
A B C D

a 4 2 3 1

b 2 4 1 3

C 1 2 4 3

d 3 2 1 4

Match the titles of the stones given under Column A with the names of the author under Column B
and select the correct answer from the codes given below:

Column A Column B

A. The Last Leaf - 1. Saki

B. Two Friends - 2. O’ Henry

C. The Refugee - 3. Guy de Maupassant
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D. The Open Window - 4. Pearl S. Buck
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The story “Caught Sneezing” is adapted from the short story written by ---------
a. O’ Henry b. Robert Frost
c. Bonnie Chamberlain d. Oscar Wilde

Identify the work which is not an autobiography
a. My Experiment with Truth b. Wings of Fire
c. My Story d. Glimpses of world history

The only people who were pleased stay in the selfish Giant’s garden were ----------
a. Spring and Summer b. The Snow and the Frost
c. The Birds and the Animals d. The Trees and Flowers

From the given options, choose the author who has written. “The Return of the Native”
a. Thomas Hardy b. Douglas Malloch
c. Patrick French d. Robert Louis Stevenson

Identify the type of this Sentence :
The old TV belongs to my sister and, it needs repair
a. Simple b. Complex c¢. Compound d. None of these

Identify the words which blend to form the word ‘Slang’ and choose answer from the codes given
below

a. Slow + Language b. Slovenly + language

c. Sleep + Language d. Slum + Language

The Compound word sewing machine is of the form
a. Noun + Noun b. Verb + Noun c. Gerund + Noun d. Adjective + Noun

Fill in the blanks choosing the right pair of words in order:
The woman wearing a ------ went to the hotel------- went to the hotel to have
a. Wail & Veal b. Veal & Veil c. Vile & Wail d. Veil & Veal

Form a new word by blending the words ‘Motorway’ and ‘Hotel’
a. Motohotel b. Mowaytel c. Motorel d. Motel
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Match the following poetic lines in Column A with their correct poets in Column B and select the
correct Code:

Column A Column B

A. Stop be silent for today - 1. Walt Whitman

B. O Winged seeds! You crossed

The furrowed sea - 2. HW. Longfellow

C. Trust on future, however pleasant - 3. V.K. Gokak

D. Exult! O shores and ring, O bells! - 4. Elizabeth Barrett Browning
A B C D

a 4 2 3 1

b 4 3 2 1

c 4 1 2 3

d 3 4 1 2

Select the apt suffix to form the root word Chronology
a. Able b. Ical c. Ity d. Ness

Complete the sentence choosing an option from those given below :
Yesterday ----------- European met me.
a. an b.a c. the d. no article

Fill in the blank with the suitable article
---------- MP is a member of the parliament
a.a b. an c. the d. no error

Identify the sentence with the wrong question tag:

a. Ramu went to Assam last week, didn’t he?

b. The Australians will not win the finals, will they?

c. People shouldn’t be rude to one another, shouldn’t they?
d. Te bus is early today, isn’t it?

Fill in the blank with the correct answer from the following options.
“The Story of My Life” is the autobiography of ----
a. Albert Einstein b. Winston Churchill c. Annie Besant d. Helen Keller

The first astronaut who stayed in space for the longest of 195 days is
a. Sunitha Wiliams  b. Rakesh Sharma  c. Neil Armstrong  d. Kalpana Chawla

“My first duty on rising is to tender my most sincere and grateful thanks to the students for their
address which they have just how presented to me....... ”?

By whom were these words uttered?

a. Mother Teresa b. Indira Gandhi
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c. Gopala Krishna Gokhale d. Mahatma Gandhi

Which of the following literary works does not exhibit the theme of ‘Optimism’?
a. Be the Best b. Keep your spirits high
c. The mark of Vishnu d. Where the Mind is without fear

Read the passage and answer the question that follows:

In building up a strong, free and democratic India, open mindedness and constructive approach are
required so that she could make a speedy progress crossing the hurdles of communalism separation
and untouchability. The passage points out that:

a. Communalism, separation and untouchability were prevalent in India, then.

b. India had overcome the hurdles of communalism separation and untouchability
c. India was too open-minded to make a speedy progress

d. India did not need a constructive approach

Laugh till the game is played and be you merry, my friend. In the above quoted lines from
‘Laugh and be Merry’ by john Masefield the figure of speech that occur is
a. Simile b. Metaphor c. Alliteration d. Apostrophe

“Every man may profit by the example of truly great men, if he is bent on making the most of
himself and his circumstances”. This theme is reflected in:

a. “Laugh and Be Merry” by john Masefield
b. “Leisure” by Walter De la Mare

c. “A Psalm of life” by H.W. Longfellow

d. “O captain, My Captain” by Walt Whitman

“Envy is ignorance and imitation is suicide”

Who said this
a. Emerson b. Gandhiji
¢. Swami Vivekananda d. Dr. A.P.J. Abdul Kalam

Identify the sentence pattern:
Brutus is an honourable man
a.SVCA b.SvVOC c.SVC d.SVIODO

Which of the following lines does not occur in William Shakespeare’s works?
a. The evil that men do live after them

b. My deeds upon my head! | crave the law

c. O judgement! Thou art fled to breetish beasts

d. Was it cowardice, that | dared not kill him?
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How many line are there in a sonnet?
a. Eight lines b. Eleven lines c. Fourteen lines d. Sixteen lines
A poem of two lines is called a
a. Couplet b. Monologue c. Ballad d. Ode
Match the lines under Column A with the poets under Column B
Column A Colum B

A. Artis long and Time is fleeting - 1. V.K. Gokak
B. And I link a second comer, waiting - 2. H.W. Longfellow
C. O’ tongues of fire - 3.Thomas Hardy
D. Or help to half a crown - 4.D.H. Lawrence

A B C D
a 3 2 1 4
b 1 3 2 4
C 4 1 3 2
d 2 4 1 3
Identify the speaker:
EEEEEEEERS not that I loved Caesar less, but that I loved Rome more”
a. Mark Antony b. Casca c. Calphurnia d. Brutus
I shot him dead because-

Because he was mu foe.
Give the meaning of the word ‘foe’

a. Companion b. Enemy c. Traitor d. Spy

Select the suitable order of compound words for the blanks in the given passage from the options
given below:

-------- | used ------- table on which there was a ------- that took me to -------

a. lifelong, jet black, looking glass, wonderland
b. Wonderland, jet black, lifelong, looking glass
c. lifelong, looking glass, wonderland, jet black
d. lifelong, jet black, wonderland, looking glass

Who said this?

If non-violence is the law of our being, the future is with woman.

a. Mahatma Gandhi b. Mother Teresa

c. Rajaram Mohan Roy d. Subramania Bharathi

Choose the option containing the name of the author and the work in which these lines occur
| was then too young to read and my blood turned cold like the moon
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a. Dr. A.P.J Kalam in “Vision for the Nation
b. Dr. Neeraja Raghavan in ‘The Sun Beam’
c. Kamala Das in my Grandmother’s House
d. Rabindranath Tagore in “Where the Mind is without Fear’

Identify the figure of speech in the following sentence.
She accepted it as the kind cruelty of the surgeon’s knife
a. Euphemism b. Pun c. Oxymoron d. Irony

Who has uttered these words?

“Friends Romans, Country man

Lend me your ears”.

a.Brutus in ‘Julius Caesar’ b. Mark Antony in ‘Julius Creaser’
c. Cassius in ‘Macbeth’ d. Casca in ‘Macbeth’

To which of the following works in Oscar wilde not associated with?
a. The Happy Prince b. The importance of being earnest
c. The Last Leaf d. The Selfish Giant

Choose the option denoting the speaker and the play from which these lines are taken.
“it droppeth as a gentle rain from heaven

a. Brutus in ‘Julius Caesar’ b. Mark Antony in ‘Julius Caesar’

c. Portia in ‘The Merchant of Venice d. Shylock in ‘The Merchant of Venice

Choose the option containing the author of the following line:
“Where words come out from the depths of truth”

a. Kamala Das in ‘Punishment in Kindergarten’

b. Deepa Agarwal in ‘After the Strom’

c.Dhar Gopal Mukher;ji in ‘Kari-the Elephant’

d. Rabindranath Tagore in ‘Where the mind is without fear’

Find the odd pair from those given below:
a. The Apology-Ralph Waldo Emerson b. Is life, but a dream?-H.W. Longfellow
c. The flying wonder-Stephen Vincent Benet d. English words-V.K. Gokak

Which of the following Plural forms is not correct?
a. Daughters-in-law b. Step-daughters
¢. Commanders-in-chiefs d. Strata

Choose the correct option with the right words in sequence.
You can------- see the mountains on a ------ sunny day.
a. Prettily, Pretty b. Clearly, clear c. Bright, brightly d. True, truly
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100. Choose the option with right combination for the following word:
Snow white
a. Noun + Gerund b. Noun + Verb c. Noun + Adjective d. Noun + Noun

101. An Enquiry in to the nature and causes of wealth of nations” is a book written by,

a. Lionel Robbins  b. Adam Smith c. Amratya Sen d. Keynes
"B(h&eflen GlFevalld" 6T65TN LIS S55HS560 6T(LDS) Uie?
a. @evulestev MLileoeiv b. gL b el G
c. S Fwim Gl&ssT d. G&ulssTev

102. Identify the add man out:
a. Land b. Labour c. Capital d. Employment

QUIT(H S SLOMHMEN S, &6TsTL_1) &
a. meud b. Geuemnev C. QLPGVGETTLD d. GeusmeveuruiliL]

103. In USA nearly 80 per cent of the labour force engaged in which one of the following sector, which
is increasingly becoming important in world economy
a. Primary sector  b. Secondary Sector c. Tertiary sector d. Quaternary Sector

9eIM&anailsr 80 561558 MG CuenGsimi Galsney OFWILD Hlewm  MHMID 2 608 eTalev
9F & (PSHFWSGlaID ClLNHM| QUHD Flenm

a. (PTG G(69Mm b. @resIL_Mb Bleney Hienm
C. &MLS&I60Mm d. BIesT&MD HemevoSmLfiev

104. The tax levied by the Government on Income, wealth and property of the people is,
a. Direct tax b. Indirect tax c. Progressive tax d. GST

D&&6M 63T QU(HLDTENTLD, C1FM& G| WHMID \Fevaug 6t B Heut eufl el HUIL| 618
a. Gmiyg. eurfl b. wepmps eurfl C. eJMI(p eurfl d. 2.616M.1q

105. Service tax came in to existence as per the Finance act of,
Baemeu aifl 6T G 6w0T(h K& FLL_SFl6sT lqliienl_ulev Cl&MessT(h el L &|?
a. 1991 b. 1994 c. 2004 d. 2014

106.The inner most layer core is made up of
a. Sima b. Sial c. Nife d. Sife

LhLOUWI 65T 2 L& (HeUlDd 6TS60TT6V Y, 601G
a. dlwn b. dwmev C. 6'5)|I)o°o|;| d. &l

107.The Himalayan mountain was formed due to crustal movement of
a. Angara land and Gondwanaland  b. Angara land and Tibet land
c. Gondwanaland and Pamir land d. Indian plate and Australian plate
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QUOWILem6y LUl 6ThG Gev(h&H (G HSTaUTen 2 (HeUT6sTS)|?
a. YBISMIT HMID CHTessT(h UM LIS

b. gEsMIm LHMIL HuF LGS
c. GanessT(heurest WMHMID LMST LGS

d. @B S 6 LHDID AeVBETEL 51

108.Anticline and Syncline are the phenomena of
a. Endogenic Movement b. Exogenic Movement
c. Cyclonic feature d. Monsoon feature

&peuenere| LMHMID GLDEV EUEHETESHET 2 (HEUMSH HTJESsTLD
a. 26T QUISS §535) b. Gaefl Quiss 55
C. &mmeverfl LiegsTL d. L(HeUSTeL LIGETL|

109.Consider the following statements:
I.S Waves are faster than P waves
I1. P waves travel through solid only
Which among the above statements is /are correct

SLPSHGTL_ US| IWBIGHEDT Y, TMLKG| FMWTe Fabenmn CHie| ClEu1s
I. S wmeuset, P giemeudenerall Geusbns LiessflLILIene
II. P yemeva6it GlLiGLmpLs6rflev L (HGW 2er(hi(hel Glgeue|n

a. Both I and Il are correct b. 1 only correct
c. Il only correct d. Both I and 1l are wrong

110. Ritcher scale in earthquake is used to measure
a. Magnitude b. Intensity c. Pressure d. Velocity

M&Ln jeme|Gamev Lh&WLISS eTELTG| 61608 Sjemal(hdms)
a. &SI 60T 66 b. LyabUSH 6T FSalfb
C. SIS SID d. Geusld

111.Consider the following statements:
I. Molten material inside earth in volcano is called magma and outside the earth is called as lava
I1. Volcano in India Present Only in Andaman Nicobar Island it is active

FLPSEIL_ FaHM)FHENET 15

l. Lhilukbglest 2 6imerfl (K& aU(BHLD 6TMILEM6V (GHLPLDL] GLOSLOM 6T6STMID, 4Gl CLMHLITLIEHL Bi6OL_hS
2_L_63T 6V 6T60TMID HEMPSHSHLILI(HAM S|

Il. @hdwmaiev 2 sitem 66 GFweLLI(HID 6Tlemen HGWT6T H&EBHTUMT &easerfev

DI 6DLDHG|6TT6T S|
a. Both I and Il are correct b. I only correct
c. Il only correct d. Both I and 11 are wrong
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112.Interlocking spur are landform of
a. River b. Glaciers c. Wind d. Sea waves

2 61T 6MIDIHG & M6 (&6 MIHET 611hG CHIaMIGH6ev HMyessiiwmey eIHL(HAMS
a. (b B b. vesflwmmsen C. &M d. &L_60 Yemeuei

113. Consider the following statements:
I. Ganges is Indian national river because if full course of drainage is in India
I1. Ganges is more polluted river system of India’

SLPSHGTIL_ FaHMISHENET 415
l. &BIens 6(h CHHAW K 67601 6T6vTl60 HGHETT (P BN LITLILID @HAWTaICe0EI I6WIDHGI6T6TS)
Il. @hAHwmailey 9 NFDOL [ PN HBHINS (G0

a. Both I and |1 are correct b. 1 only correct
c. Il only correct d. Both I and 1l are wrong

114. River Mississippi is worlds fourth longest river flows in
a. Europe b. North America c. South America  d. Africa

WAL B 2 S 65T BIETTHTUS| ST hS UEMOHGIETET LIGI)
a. G b. eu_ 90fisaT  c. Qg6 6wf&at d. gy lfssen

115. Caves, arch, stump, cliff are the landform of
a. Coastal landform b. Desert landform
c. Glacier landform d. none of the above

(HEDG, CUMET6, FNEITSHET GLITETNENE 6THERNIL_65T CIGTL_LIEHL W K 6vSEHMHMBIGHET?
a. SLMH&ENITU|L_65T b. unevevalsTTS&IL_60T

C. uesfluirmmia@rpL_eot d. @euhmie 67FIL06v6m60

116.Among the following which is not landform of wind erosion
a. Zeugen b. Yardang c. Inselberg d. Barchans

FLPSEETL_aDMI6T 61&| SHMHM| SILILIMEL 6TMHLIL_L MlevILTLL| @6v6n6v
a. dlup,xerr b. wmiL_rmig C. @eTFbILING d. umi&mestev

117.For every 1000 meter we go high in altitude the temperature decreases by

et so6UGleum(h 1000 BLL 1T SL_60 L L §F60 Q\(HHG GG lFevev ClF6vev 6T1586068T Iq &M GlauliLl
B Hew6y (§ODHADS
a.2°C b.5.2°C c.65°C d55°C
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118.The major component of earth atmosphere in descending order
U6l LOGESTL_60 G H6v 2_6TaT aUMLSSHEn6T QMG auflenauley euflens LG S5 ?

a. N>O>Ar>Ne>He b. N>O>Ne>Ar>He
c. N>O>He>Ar>Ne d .N>O>Ar>He>Ne

119.0zone layer present in which of the following atmospheric layer
a. Troposphere b. Stratosphere c. lonosphere d. Exosphere

62@&mesT LIL_6uID 66l DGETL 605 H 60T 6T G Di(HN&E6v 2 6T6rms)|?
a. 19.CymiGumeivLiwn b. evGrL_GL_mevLiwn . guwiGestmeoLwin d. e15@ameroLiwin

120.The average air pressure on the earth is
a. 1013 millibar b.1003 millibar .1031 millibar d.1113 millibar

Lhidullest ennafl (WSS SHIH 60T 66
a. 1013 levellumi  b. 1003 Weveduri  c. 1031 Wevellumi  d. 1113 wWevediLimi

121.Which is called as horse latitude
a. Sub-tropical high pressure belt  b. Sub-tropical low pressure belt
c. Polar low pressure belt d. none of the above

615 (HS 0T DIL_FEIeNS: 6T63TM) AMPSHSLILI(HILD
a. HIEHEST JUIEST 2 WM (DHS DGSTL_6VID b. H16068sT 6T FMPe| (PSS LOEGTITL_6VLD

C. gl(Hel FHMPa| I(DSS LDGITL_6ULD d. @auhmieT 610 606m6v

122.The wind that blow from sub-tropical high pressure belt to sub polar low pressure belt is
a. Westerlies b. Easterlies c. Trade wind d. Jet streams

SIEDGTT DG 21T WSS T 0SHO GHBSI, SV SiHeU FTPAULSS WeT_SHDEG

OlF6LYID HMMHM)
a. Geneud SMMHM)|G6T b. &eopsanHmisen
C. ellwmuInyd SMhHm|&ei d. QgL sMMhHm)Is6iT

123.The instrument used to measure rainfall is
a. Anemometer b. Hygrometer c. Barometer d. Radiometer

LDEDLPUT 63T BIETEDE ETSHSLILILIGTLI(HID S(Hei
a. geflGor L b. emam&Cm 5L c. unGym 1fL_Ln d. GrgGuim SLL_f

124.In terms of earthquake risk zone, Tamil Nadu comes under the category of
a. Low damage risk zone b. Moderate damage risk zone
c. High damage risk zone d. Very high damage risk zone
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Lh&WLLD FEH@GL LG sefler Liflalev Slpaid sthiLifaley 2 smarg)
a. Gmnhe CFF LOGHTL_6uLD b. SgwresT G&FG DESTL_6VLD
C. &5 G5 LDGBSTL_6ULD d. 5l& 985 G5G DESIL_6VLD

125.The point at which the earthquake originates is said to be
a. Centre point b. Origin c. Epicentre d. Focus

L&D Lhouiiev 2 (HeumM@ Liemerfleni eTeuelmm| Bi6nLpsa GmimLd
a. wsHuw Leiterl b. glausad C. 6TLN0\FEs LN d. GuN&&6

126. The study of lighting is called as
a. Lightology b. radiology c. waveology d. Fluminology

il esT6T60 (HM S LigLLm@& liwi,
a. emeul_L_Mevgd) b. Grquimevgd) c. Galaumevdl d. LempLdlestmeuzd

127. Consider the following Statements:
1. Kerala and Tamil Nadu almost lie in the same latitude
2. Kerala receive very high rainfall than Tamil Nadu due to south west monsoon as it lies windward
side of western Ghats.

Identify the Correct answer using codes given below:
a. Both 1 and 2 b.1 only c.2 only d. Neither 1 nor 2

SLPSHEIL_ FaHMISHENET 15

1. Gayerm HMID SOLP BI(H CT L FETmSHUIH eMDHGIETETS)

2. 01560TGM(G LI(HEUEWITE SHIN&S5mG all GHI6emT S8 Wwenlp GILIMISAMS) 6765Tol6wT6uf 60
9|5 GG LGNS WewevullstT SMMHMILILISSHD HEDLDHSIGTETS)

Qaummier sfwmes Famenm Czla| CFIIS
a. 1 whHmibd 2 & b. 1 L (hbd &rfl C. 2 (b & d. @eunmieiT 6156 L8l 60606V

128. The cloud that give only snow and drizzle is
a. Cumulus b. Nimbus c. Stratus d. Cirrus

uesfl HMID SHTM6L L (HID C1&M(H&@SHWD CLFLD 615
a. GH(ereiv b. mlibLsv C. 6v@ryL_6v d. &ngen

129. Among the following which is not planetary wind
a. Trade wind b. Westerlies c. Easterlies d. Cyclone

FPSGTIL_aDMI6T 618 CHMET SHMHM| @6L6M6V
a. elwmuny sMhm b, CepevdanHm  C. HmPS&HSTHMI d. &mreuerd

130. Among the following which is not seasonal and periodic wind
a. Monsoon wind b. Landbreeze c. Sea breeze d. Cyclone
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131.

SLPSHEETL_UMMI6T 675| LI(HEUSHTeV Bj6V6vg| LGS GBI SMHmI @eveney
a. L(heussnmml b. Hevssmhmi C. SL_HaNHM| d. (& mmeverdl

In atmosphere the jet plane travel through
a. Troposphere b. stratosphere c. lonosphere d. Ecosphere

QoL ailbresTtid 6ThG euerflnessTL_6u& & 66T (h&& v ClFeueY|LD
a. 19.CymiGumeivLiwn b. evGrL_GL_meviwn . uwiGestmeoLiwin d. e15@ameroLiwin

132. Avalanche is mostly caused by

133.

134.

135.

136.

a. Water b. Wind c. Earthquake d. None of the above

uesll&ge| UMGauTs JHLMSSHID SHyesst,
a. mn b. anm) C. Lh&IDLID d. @auhmie 61HI0 |8 60660

In India, Tsunami warning centre is located at
a. Chennai b. Hyderabad c. Kolkata d. vishagapatnam

QhIlnaiey &6l 6TF&IM H6nd eOLOWILD 6TRIG) HEOLDHS|6ITETS|?
a. O\FetTem6wT b. emamgnmLng C. O&MVSHS SN d. alsmsLL g 6oTld

Consider the following Statement:

I. Whenever volcano occur earthquake occur

Il. Whenever earthquake occur volcano occur
Identify the Correct answer using codes given below:

FLPSHETIL_ FaHMHEDET IS
. emfibemey Glavlg S CUING| Lh&WDLID 67 MHLI(HILD
II. W&bub eghuimid GLNg) eTifinensy Glailg &(@LD

a. Both I and Il are correct b. Il only
c. lonly d. Neither I nor 1l

In which layer sun ray ionized
a. Troposphere b. Stratosphere c. lonosphere d. Exosphere

GMwasAn weslnssd 61hG euafinessi_ev i(h&& 6 eTHLIFAMES?
a. 19.@ymuGumeivLiwn b. enGrL_GL_mevlilwn . wiGertmeioLiwin d. e15@&meroLiwin

The Dirunal day temperature is very high in
a. Coastal region b. Hilly region c. Desert region d. oceanic region

gewrafl L&6v Gry GleuliLl Hemev 6THIG W& HGDTS @N(HE(GHLD
a. sLM&mT LG  b. wenev LG C. Umemevalent LG d. s LG

https://www.freshersnow.com/previous-year-question-papers/




Pagez 0

137. EI-Nino is caused due to rise in temperature in coastal region of
a. Peru and Ecuador b. Peru and Bolivia
c. Peru and Argentina d. none of the above

6160 BETTT M &P 6THG HL_MH&ED] LGS BiiletT GleuliLib 2 Wwiieigmey 67HL(NAMSI?
a. GlLem, whHmId Q&ETLMi b. Quem wHmIDd GlLmeseluwir
C. QLI HMID HTCIZEEDTIG 63T d. @eummieT eJHI6V6m6v

138. Size of the ocean in descending order
a. Pacific > Atlantic > Indian > Antartic > Artic
b. Pacific > Indian > Antartic > Atlantic > Artic
c. Pacific > Atlantic > Antartic > Indian > Artic
d. Pacific > Antartic > Indian > Atlantic > Artic

SL_6v&erfl6tT LITLILIeTeD6 6\&Mess(h euhenm @miiE euflensuiev afleng
. LSS > 9L 60NM6SsTIq & > @B SIUIETT > GTOTL_MMlg &> Mg &
L U&ELS > QHSIWIETT > ESTLMIGS > DIL_60MESTIq & > If1lq.&
. U&ELS > 9 euesTiq & > QIGETLMMIq & > @h ST > I Mlq.5
UGS > YESHTLMTG.& > QIR FUIETT > BIL_6VM6TTIq & > IMlq.&

Q0 TD

139. Arrange ocean topography in order from continent to ocean deep
a. Shelf, Slope, Ahyssalplain b. Shelf, Ahyssalplain, Slope
c. Plain, Shelf, Slope d. Plain, Slope, Shelf

GUIMPUIEST FHEOIJ NWOLIL|SHENET SHEITL_LD (LPS6V Y L&HL_6V 6uedl] auflenslILI(NS S5 ?
a. &L G _(h), S &F&Me|, HL0G601]
b, e HHIL_(h), HL_60G&60I], HERIL &6
C. LG, ST SIIL_(h), H65u1L_&&fle]
d. L_60Gen(, HewTL_&&ife], HeTL_&IHL(h

140. Atlantic ocean is elongated as in shape
a. Triangular b. S’ c. circular d. ‘C

DI 6VM6HsTIq & OILI(HEIGHL_6063T EWIDLIL| HETEUTL_L_SH)60 6THED6IT 60&5| 2 6M6mS)?
a. (Pps5Gsmessiid b. ‘S’ augeibd C. allL_algeald d. ‘C’ augqeubd

141. Rise and fall of sea water due to gravitation is known as
a. Tide b. Tsunami c. Wave d. Ocean current

sL6v KHi yaluiiliy elenguwimey GGev 6T(LpaUGID, eIPaIGID 6TeleTN) DIEOPHELILIHNS MG
a. gId b. sestmLll C. B6BIGVGH6IT d. Gumyl BErML_L_bigei

142. The petroleum and crude oils production, from ocean off shore contributes to world production to
the tune of

SLMH&eoTCWMTL LGS &aflev 2 66 6165T0l6wsTI DHMILD @UIMEDS QUM CUETHBIGHET 2 60811
QUL Gnmedw 2_mHugSHuiev 6785 G56mer &S5aIgD 6 & eTmest

https://www.freshersnow.com/previous-year-question-papers/




Pagez 1

143.

144,

145.

146.

147.

148

149

a.17% b.25% €.33% d.45%

The percentage of Earth’s water roughly present in Ocean is,
LOlUl6tT GIOMSS M6 HL_6VGHET &M 615SH6m60T EHaIG Ih 6wl ClGTessT(heTer e ?
a.90% b.99% c. 97% d.80%
Aurora Borealis and Aurora Australias occur in
a. Troposphere b. Stratosphere c. lonosphere d. Exosphere
9@y Guimilwimedleiv HMID HEIMIT yeivigTTedlsiv 61HG auerflDessTL_6v (hdhdev
D|6OLOIL G661 S| ?
a. 19.8ymiGumeivLiwn b. evGrL_GL_mevLiwn . guwiGestmeoLiwin d. e15@ameroLiwin
The climate of a region was decided by taking average of
a. 20 years b.30 years c.35 years d.50 years
6(IH LIGSHUI6TT &IT6v Ml6m6v 615560687 ,683T(hdaf 6T maenu Cl&MessT(h (Lplg6
QELILIhEM S ?
a. 20 sympLmiser b, 30 suympLmser ¢, 35 eupLmiser  d. 50 eu(BL_BIGe6T
Drumlins are landform of
a. Glaciers b. River c. Wind d. Waves
lqJDErfl68TH6T 6TEMID MEVSGEHTMHMID 6THEMIL LD OIGHML_IL|EHL_IG)
a. uesfl Q,miseiT b. Bgl&en C. &nhm| d. emevser
The panagea was broken into how many number of mayor plates
LIMT6sT2IWIT 2_6mL_hG)| 615G enert Gl S (haemns Lifihg g ?
a.6 b.7 c.10 d.12

. Crater lake are formed by

a. River b. Wind c. Valcano d. Glacier
FCrLLn efigeT e1g6vTMev 67MHL(NHAMS)?
a. b Gl b. &nmhm C. LL&IDLID d. uesflwmmger

. Consider the following statements:

I. Point of origin of earthquake is called epicenter
I1. Point directly above epicenter is called focus
Correct answer:
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150.

151.

152.

FLPGHGTTL_ FaHMIHEDET I, UIS
l. LhabuG e HlaussLeTer 61L106lF6wTLIT 6T6uTLILI(HID
. 61905 68T (H& (G GGev L,Blulev 2 6T Ligd CuIM&eiv TauTlILI(hID

QeummIeT 15| &ifl
a. Both I and 11 correct b. Il only
c. lonly d. Neither I nor Il

The density of core of the earth is about
Leluiesr epwuwlii@glullest LG4
a.8 b.9 c.10 d.12

Consider the following statements:

I. During cyclone thunder and lighting are more often
I1. Cyclonic rainfall last more than 7 days

Correct Answer

SLPSHETIL_ FaHM|HEDET L5

I. @mreuefluiiest GUTGl @ig. LMHMID W6TTEET60 NS FHLOMG CHM6sT MLD
. @&mreusfiuiest UG 7 B &EHs G Go6v WeoLp GlLMLlujb
Qeummie 615| &l

a. | and Il both b. 1 only c. lonly d. Neither Il and II

Consider the following statements:

I. In India 80 per cent peninsular part is stable no major earthquake happen

I1. But North India particularly Himalayas is unstable major earthquake happen there
Correct Answer:

FLPSHETIL_ FaHMIHEDET 15

1. @ FushHuSFl et 80 §56a15ILIGS L, HSLNG HEDEUUITEST LGS WIM(EGHLD

2. gjeutnev eu @i FHuwimaiev GHMILILITG GUOUIDEDLILIGHE K eDeuNMS| IS & LLGDLID M& (LD
LI&H & WIM&HLD

Qeunmmieit 615| &ifl

a. I and Il are correct b. I only correct c. Il only correct d. l'and Il are wrong

153. Torandoes are common in

a. Philippines b. Bangladesh c. China d. USA

CIL_1BerTBL_M&HS6T 6TM0IFH HHBHLIONG K &(LHLD
a. UedlLllemLisoTen b. ak&s@g&b c. Feorn d. 9GwM&an
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154.

155.

156.

157.

158.

159.

Landslide often occur in
a. Himalayan region b. Deccan plateau c. Western ghats d. None of the above

Bevggie] B H&0Ns FL &G LG
a. QWIS b. s&aneiLLLL8
c. GM@ CIGML_&S Dem6v d. @eunmmieit TGl 6vemnev

Which among the following constitutes Barysphere
a. Core b. Mantle c. Crust d. Bottom of ocean

S &G aUhmI6T 618 GuIf el 6T60Tm| HEOLPSHSLILIHF MG
a. 2 L &(m b. GwessTL_6v C. e d. sL_6dl6sT HlevILITLILY

During North East monsoon Tamil Nadu gets it annual rainfall by

a. about 70% b. about 90% c. below 70% d.50-55% of rainfall
QlL_&Pp&(S) Li(hed Wenlpuilsst GUTg| SOLPSID F6uT&| CLDMSHS WDem ieTaiev,

a. 70% Gev GILMIFMS) b. 90% Gev GlLIMIFMG)

C. 70% &1 QUMIFAMS) d. 50 - 55% wenLp GLMIFMS)

Match the following

A. Loo - 1.Africa
B. Purga - 2.Ausralia
C. Harmattan - 3.India

D. Brick fieldor - 4.Russia
QUM(HSSH15:

A. r 1. Yumasn

B. yisn 2. 9 envglGredwir
C. amfwln_mest 3. @i gwir

D. Uf&eoLn 4. gegwi

oo o
wwww >
R ANPFP @
AR, ANQO
NN R QD

Along which cloud called rain cloud?
a. Cirrus b. Stratus ¢. Cumulus d. Nimbus

SLPSHGEIL_UMMI6T 675| DDLP GO&HID?
a. e b. en_GrL_L_en C. (S(LP6VETV d. mlibLisn

Which among the following is Cold current:
a. Gulf stream b. Brazilian Current
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160.

161.

162.

163.

164.

c. Mozambique Current d. California Current
FLPSHETL U6 618 (GHerfii BEIML_L_LomEGLd?

a. &6Vl HEHMLL_LD b. LIGydeflwest BGFTL_L Ld
c. QrembLig BGrm_L b d. &edGummesflum mErILL_1d

Identify the odd one out:
a. Caspian Sea b. Red Sea c. Dead Sea d. Persian Gulf

SPSEETIL_ahmI6T Hevflmesteauenm sHesstL &
a. smeliwest v b. QFRIGL_6 C. FNSHSHL_6V d. QUIAWEST eueDET(GHL T

The word ‘Tsunami’ originates in which language
a. Tamil b. French c. Japan d. Latin

geutmLll 61601 G\FIT6V 6TH G GUOMLALI ) (HhGI b G|?
a. gulp b. L1QEhs C. goUILimest d. evg g e

Seismograph is the instrument used to measure
a. Earth quake b. Volcano c. Tsunami d. Landslide

SLPSESTL_aMMI6T &6vCLMSHANIL 6TenID &(Hal 6169 BaTSHSLILILIGTL(NS 65TNG|?
a. Lh&bub b. emfiemnev C. Gr6ormisl d. pevgaiiie]

The sea that was located in the place where Himalayas located is,
a. Tethys Sea b. Panthalassa c. Indian Ocean d. None of the above

Gouioensy GHhG LiGIuiew (et 6ThG S0 Q(HhSS)

a. 0555 6v HL_6v b. uhgeonsn

C. @HGIOST F(PSI|ID d. @euhmie eTHleSl6v6m60
“Large Haldron collider” experiment is used to study,

a. The depth of ocean b. Expansion of Volcano

c. Origin of earth d. None of the above

"eurney GlamL_Jest GI&MeVMUL_MT" 67651 SH(He 61SM(& LWL TG
a. L6060 YLPGHNG BI6MHS b. srflienevulsst LIL_M&enev ymul
C. LA 2_(hHaurew J&FAIGens miul d. @euhmie eTHle0l6vemne6y

165. Which one of the following is not a method of heat transfer from Sun to Earth

a. Radiation b. Conduction ¢. Convection d. Insolation

&M sFnal&d el (Hhgl LMD el g, hmeurestg) b\FweLhibd aufisafiev @aummieT 615
Qevenen?
a. sgliaige b. Hevgglev sL_G560 . Qeauigsesnd  d. GMw snaigemnsy
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166. 8A = 7B = 4C find the A:B:C

8A = 7B = 4C e1esfiev A:B:C anesors

a.8:7:14 b.7:8:14 c. 14:8:7 d.8:7:4
167.75% A is equal to 5/4 of B find the A:B ?

A-ulest 75% gy eug| B-uleor 5/4-8& &wib etesflev A @ B wing|?

a. 5:3 b.3:5 c.5:6 d. 2:3

168. If x;y = 2:3 and 2: x = 1:2, the value of y is
a. 1/3 b. 3/2 c.6 d. 4

169. Two numbers are in the ratio 3:4 and their product is 1200. Find the difference between two numbers

QU eTassTHen 6T lHGID 3 1 4 el (m eTasstsHerf 6T OLHSGHSGTems 1200 6Tesilev s (mH
6TGosT S61t 60T )l SFINFID 6T63TEDT?

a. 20 b. 15 c. 10 d. 25

170. Find the ratio of 2.4 kg to 600 gm

alAZ snessrs 2.4 FGeurm HMID 600 HAymb
a. 1:4 b.2:1 c.1:2 d4:1

171. A sum 700 is divided into 3 parts and in ratio 1/2:3:4/6. Find the second part value

erHumi 750 1/2 1 3 : 4/6 e16t1n el A $5S 60 6T LITGRIGETTS LIl SSLLLL 60 GM6TL_MeU)
LIM& S 6V DG LIL| HTEETS

a. 120 b. 540 c. 90 d. 600

172. The average age 3 students are 30 and their age ratio are in 6:4:5 then find the age of youngest
among?

et WessTeugaflest snme euwig 30 aupL LD auigaflen awgiseflen aldghiger 6 : 4 : 5
6T6vfl60 QyIbIDMEsTOUNG6rf 60T HAMlw evLIW6sll6dT 61UIG)| 6T6dTENT?

a. 8 b. 15 c. 30 d. 24

173. Two number ratios 3:4 if each number increased by 5 the ratio becomes 4:5. Find the number is?
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QU eTessTH6f 65T S FD 3 1 4 QI 6TeTTHEMVID 508G Fal lg6vTev Hewaudaflen aldH g 4 1 5
Dh(GID 67631160 BjeuET (Ih 6TGETH6IT WiTemeU?

a.8,9 b. 15, 20 c. 12,16 d. 30, 40

174. The side of a triangle are in the ratio 1/2:1/3:1/4 and its perimeter is 169cm. The length of shortest
side is

Q(hH (PSHCHMeTTEH I 66T LIGGHBIGET 1/2 1 1/3 1 1/4 61601 e1F HHH 60 2_6T6M6ET. YFH6TT FDMET6
169 0F.15 G631 LIGSHSH) 60T 6T6r| 6T60T60T ?

a. 39 b. 42 C. 65 d. 78

175.Ratio expenditure and saving is 5:3 and their difference is 1500 find the income of family?

(H G(HIbUS I 6T GlFeve WHM|ID CellliLgafle aldg 5 : 3 HmId eunmles ai&HwnesLd
1500 6T63fl60 (&H(HIDLISS 63T EU(HLOMTETTLD 6TEUEETE |7

a. 8000 b. 7500 c. 6000 d. 4500

176.Find the missing number
Ql(HLILL_L_ 6TEST6MESTS SHT65u18: ?
3:4=12:7
a. 20 b. 24 c.12 d. 16

177.x ¥2: 9 = 16: \/x what is value of x?
a.+12 b.—12 c. 12 d. None of these

178.The salaries of A, B, C are in the ratio 2:3:5. If the increments of 10%, 20% and 30% are allowance
respectively in their salaries, then what will be the new ratio of their salaries?

ACwIfleoT FbuemhIGeT 2 © 3 1 5 61601 alHGSHH 60 2 616G, NUTHEHSHE 20l 2 U6
WpeomGul 10%, 20% whmibd 30% euprmIsGLLL L 16T Sjauigeflen Lglw 2argluinigeflen el b
GHMGTsTS?

a. 1:2:3 b. 36:22:65 C. 22:36:65 d. 12:10:7

179.1f /3 = b/4 = c/7 then a+ b+ c is equal to
C
a. 7 b.2 c.1/2 d. /7

180.1f A:B=1/2:3/8,B:C=1/3:5/9,C:D=5/6:3/4
a. 4:6:8:10 b. 6:8:9:10 c. 6:4:8:10 d. 8:6:10:9
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181.In a bag there are coins of 50 p, 25 p, 10 p in the ratio 1:2:3. If there are Rs. 26 in all, how many 25 p
coins?

&(h emLulev 506mLFT, 256mL8T, 106HLIET BIGHTIBIGET (WeoMmBW 1 : 2 : 3 61601 @l H FSHI 60
2 6TeMGl. @&60T LIS WG eHLIML 26 eTevflev, 2560LIGT HTewsTIIBIGET 65T 61658 6551 669872

a. 40 b. 20 c. 15 d. 30

182. The ratio of three numbers is 3:4:5 and the sum of their squares is 1250. The sum of the number is

PLPETTM)| 6TGESTSH61Tl 63T & FBIGHET (LPedMmGUI 3 2 4 : 5 wHMID HeuMN6sT @\(HLdlg.FHerfl 6T Fn(hGHev
1250 e16fl60 eLp6tTm)| 6TEEHTHEM 68T For(DFH6L HTGTIT S

a. 50 b. 60 c. 90 d. 30

183.1f 510 be divided among A, B, C in such way that A gets 2/3 of what B gets and B gets ¥ of what C
gets then their ratio shares are respectively?

¢H510 uesTTGeng A, B whmib C-&@ LIM§816 0an(haaslLhidng. (wenmGur A-ulles

wglliumesrg| B-ullest 2/3 LglliLing gwb wihmib B-ulest wdliunerg C-ules 1/4 wdllimng
FoLD. eTesflev glauigerf 6ot WHLILN6T 615 FHIGNET SHIT6HTH

a. 2:3:12 b. 3:2:6 c. 3:12:2 d. 2:3:4

184.An amount of 1470 is divided among A, B and C such that if their shares be reduced by Rs 5, Rs. 10
and Rs. 15 respectively. The remainders shall be in the ratio of 3:4:5 then, B’s share was:

e 1470-5 A, B inhmib C-&@ uimidL_Lin(namng|. eungeflest Liesst& &6l (hihgl emumi 5, 10,
15 915 @GNS (H) L6t 1S G(peiter Liesst &G 6T ei& ghiger (peomGui 3 1 4 : 5 erevflev B-ullewr
OS] WIMG|?

a. 480 b. 490 c. 365 d. 400

185.The compound ratio of (2:3), (6:11) and (11:2)
Fal_(h el gl sressts (2:3), (6:11) whHmd (11:2)
a. 1.2 b.2:1 c.11:24 d. 36:12

186.20 liter mixture in that 25% alcohol remaining water. Now 10 liter water added. Find the ratio of
alcohol & water in new mixture?

20 eI Sevemeuuiiey 25% ,60&HamMeIID L SLD SessT6sst (HLD 2_61TaT G| @1&6v 10 6L
SessT6sst 1 GFNSHM6V LS W H606m6UUT 63T 60HDIT6V WMMILD Se5sT6ssT 60T el &l GhiIGen6T HITessT s ?

a. 51 b.1:5 c. 1:3 d.1:2
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187.1/5 : 1/x = 1/x : 1/1.25, then the value of x is
a.1l5 b.2 c.25 d.35

188.Two numbers are in the ratio 3:5. If 10 is subtracted from the new number are in the ratio 1:2, Find
the smaller number is

@ eTetsTHaflen alHFb 3 1 5 Q(H eTeswdaflen 10- SfGFMev Biewaldeflerr aldFd 1 1 2 eTeuflev
euall(F 6T68sT&HaT60 IOHEFAMUI 6T635T6OETTS &HITEETT5

a. 20 b. 10 c. 30 d. 50

189.1f x:y = 2:1 then (x +y)3 : x° +y*
a. 1:3 b.1:1 c.2:3 d. 31

190.A sum of Rs53 is divided among A, B, C in a such a way that A gets Rs. 7 more than what B gets
and B gets Rs. 8 more than what C gets. The ratio of their shares is

epuml 53-o9 A, B nmmib C-&@ LM $g) euprisliLi(hdlestn (penmGu A-ulest Liesstid B-sow el
eH7 HFSD HMID B-ule Lesstd C-eow el ¢H8 IS eTevflevr yaungeafles aildlgmiger e
S| 6T65T63T?
a. 16:9:18 b. 25:18:10 c. 18:25:10 d. 15:8:30
191. Express 9% in decimal
9% LietTer1 &5l 6v

a.0.9 b. 0.009 c.0.90 d. 0.09

192. 12 of 26% of 5/78 of 38% of 7/152 of 10000 = ?
a. 38 b. 35 c.41 d. 52

193. 30% of a three digit number is 190.8 what will be 125% of that number?
62(h eLP6ITMI6V&5 6TaTsTesstl6sT 30% 615 190.8 6T6vfl6v Bj6iIGlIGTsTERsT 65T 125%-63T WO LIL?
a. 759 b. 785 c. 795 d. 779

194. What is 32% of 3/8™ of 5000?
a. 606 b. 610 c. 580 d. 600

195. If 20% of x = 90, find X
a. 350 b. 450 c. 250 d. 550
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196. 89% of ? + 365 = 1075.22
a. 798 b. 897 c. 898 d. 752

197. 12 of 26% of 5/78 of 38% of 7/152 of 10000 =?
a. 38 b. 35 c.41 d. 52

198. The salary of a worker is 1* increased by 5% and then it is decreased by 5% what is the change in
his salary?

6(HEU(HEBL_UI FDLIGTD (PGellev 5% 2 wiSSLUILL_(h L6t 5% F5alHD (HenMSHSUILIL_L 6T
e glev eJHLI(HID MMHMG S 65T FHaIFHD jemTe?

a. No change b. 10% c. 25% d. 100%

199. A shopkeeper marks the price of his goods at 40% higher than the original price after that he allows
a discount of 20%. What profit or loss does he get?

GOSN (1 Glm(merfle alenevulenr iemailer 40% 2w AT L6t 20% &Henm&E i
6T651l60 el DL _61G| 615H6M6T FHaIGID GUMLIDT HL_L_DM?

a. 12% less b. 12% profit c. No profit d. No loss

200.a:b=5:14andb:c=7:3,finda:b:c
a.5:14:3 b.5:7:3 c.10:14:6 d.5:14:6

https://www.freshersnow.com/previous-year-question-papers/




VAO & GROUP 4 TEST

General English & General Studies

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

21.

22.

23.

24,

25.

26.

217.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

https://www.freshersnow.com/previous-year-question-papers/




< 0o < @0 m|< @ OO m A m|o 0 omnmi|< om0 m O |< o< oo |< |0
A & o ¥ v |© |~ |0 o | |d |a o [ [ |© |~ | |lo o |d |a ;o [ | |[© |~
©w |0 | |0 | | |0 |0 | & |o |o | oo |0 |0 o |o | |© o o |© o |© | |o
—A A9 |94 |94 |94 |4 |d |d |d |4 |d |[d |4 A |d |d |4 |4 |4 N [N N [N [N |]d [N ||
O I W O O o | O O m A mom| | O | oo m O || K O m (<
2l @ |8 8N |6 | [ |d|d v |f (B |6 [N |6 |0 |0 |g |[o [0 | |8 [© |

© |© |[© | |© | |© | <K |~ |~ K |~ [~ |IK |~ K K | © |0 |0 |0 |©o |
A = o Ry o e e e e e e L K T S T e T e e I L I i T N R i ok [ i |
< | O |0 | @@ OO0 Q0 oK 0| | | | |ON0 | M| | |0 | | |m
- & o |9 b |© [N | o o |d o v | | |© K |0 o | |[d |o0 ™o | (b |[© |~
< T ] D0 (1 BB L O | | | | (U [© |[© [© |
T e e T . T et e e e e e e e e e T = T = e = = R [ (R e
< < [m | O |0 |< |00 0O m o m|o || | < | | | |m O O |<
—A &N o | [ |© N | o o |d |a o | | |© K |8 o | |d |o0 o |4 (1v |[© |~
N N N N[N NN NN MmO o o o o oo o oo o|9 |9 |5 |9 [9 |9 [9 |
—A |d |HdHA |[d |[d |9 |9 |3 |9 |[d A9 |49 |9 |[94 |4 |4 |49 |d4 A |A3A |A |3 A3 [H |H1H A1 |
m A O < 0o |0 | KK 0O |< | |0 m < O | |< M | oA O < o |0 (K
- o o | b |© |~ | o o |4 & v | | | K | o | |4 |0 o |9 (1 |[© |~
o o |© o o |© o & & |d |d |d |43 |4 |d4 |4 |4 |94 |4 | | [N [N [N [N [N |y
A |d |A |[d |[d |9 |94 |39 |39 |[d |[A |[A |[Ad |[AdJ |d |d |A |d |[dH |41 jH1H [HJH |dJH [H1H | H A1 |

https://www.freshersnow.com/previous-year-question-papers/




N m O m |0 |0 m|< o O m O
o o |d |ad |8 | b o |~ |o o |o
O A |dA |94 |9 |94 |94 |4 |4 |4 |4 (N
AN N N &N N N N N [N [N [N [N
O 0 m 0 mi< O O 0o |0 m N
o o |d | o | | | |~ |© o |o
o oo oo o o o o o o o o |[O
- |4 |4 [ [ |4 |4 [=—H |[=—H [+ |4 |
0O N0 o< 0| € | [0 |00 <
o o |4 | | | | |l K |o o |o
© |~ [~ [~ |~ |~ |~ |~ [~ |~ [~ |
- |4 | [ [ | | [ [ [ [ |
A o mn o m o |0 |0 |« |« |«

o o |d o m | v o |~ |o o |o
<t (IO IO IO (. (IO (IO (IO (IO IO (IO |©
- [ | [ | [ | [ | [ | [
0 |< o | |0 o <€ O |0 K O <K
o o |4 |a o | v |l [~ |o oo |o
N MO oo oo oo oo oo oo oo o0 o6 (<
- [ | [ | [ | [ | [ | [

https://www.freshersnow.com/previous-year-question-papers/




